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I. CHOOSE THE CORRECT OPTION (1x15=15)

1. The change from large family size to small family size is
a. Structural change               

2. The task of upbringing children by family members has been shifted to crèches, kindergarten schools etc. This is a
c. Functional change

3. Due to interactional changes, the distance between the father-in-law and daughter-in-law has been
c. Reduced                   

4. The __________________ Act of 1956 grants women the right to family property.
c. Hindu Succession Act          

5. In modern generation, the decision making authority has been given to
c. Women 

6. The two main functions of the modern family are
a. Primary socialization and personality stabilization 

7. The ‘nuclear family’ means
a. A two generation unit of parents and their children

8. The word family is derived from
c. Latin                      

9. Who defined the family is a biological social unit composed of husband, wife and children.
a. MacIver                 

10. What is the main basis of the structure of family?
c. Both a & b                    

11. What is the second basis of the structure of the family?
c. Procreation                     

12. ____________________ is the main aim of family life.
d. Sexual satisfaction

13. ____________________ is a basic definite and enduring group.
c. Family                    

14. Family provides _________________ status.
b. Ascribed                  

15. It is a type of family in which husband, wife and their unmarried children is called
b. Nuclear family                   
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